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Use additional reading time to go through the question paper, select the questions you will answer and decide which
of them you will prioritise.
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coecs:/ afemidbseoss’ Instructions:

* Bag © gd»dcEd BEno wonmim.
6160607 NlOMSHEDEGID oDl HHb.
Answer all questions.

#* 140 e ged»oe (1),(2), (3). (4) BERS1ORS BO08 owd Dt wrgesm vl BERS emid ontm.
1 Qzm_ssib 40 susnyusion @aiaimp sflamalenn (1),(2),(3),(4) slen eresmemi (il L eflenLmerfled Ffuimes
Seveug s QUImSSIT lmLamuis GFfeeFuis.
From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate.

* QR0 eswenm BEno oned 9 O gdve wewm € ad »O gnedst 98 emic o EEmel gomwd
w@ee wos e (X) crne ewests.
2_106@ eNpBIBILILGsiten alenL Someflsd @aiQamp olamadba@nd 2 flul e L kisealsd 2 iog
allenLulehi @evdbshms @H5 N L HH@IENGT Lisiemgenit (X) BBs.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.

¥ 99 88nc vged Bloe & B gems cuesd ¢ BEBCecs Bwd, S ¢ BEuestm.
alenL G@isiled DHILGHSHE0 SHILILL B6lleN BB ST BISHHEOBMENULD HEUGHILOTS ardlEHs SleBemBL
W eiLiBmis.

\____ Further instructions are given on the back of the answer sheet. Follow them carefully.

J

\ i J

1. 088 8dex3Ddwd gmd & B @b O a®glen BOO0 ewigy vm DS eedByEE HOd mredis Do’
©®853 @3 ¢?
deaumeuaraubpieit enfib HaGCarFama@ L g,uuun_(r}anm LIy Senel IJeRI ILIBEHS LULIGILBSEHIILIL Sanlgu
BCygweoy ebeauy OHTGH 6g?
Which of the following irregular group of notes will complete the given bar according to the time
signature?

*

ol

(1) Duplet of Semiquavers
(2) Triplet of Semiquavers
(3) Duplet of Demisemiquavers
(4) Triplet of Demisemiquavers
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2. € arB ool Omd ogensient e®0Be3 20 088 Bdewdss &?

UeiiaubeusmouBmieh abg ey ASCaEsy Sriul Geen LT @BGI QUIHSSOTETS SiE0H?
Which of these time signatures would match the given bar?
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9 6 4 - 3
1 g @ g 3) 4 @ 4

& a8 820u0 meentes’ e®0ds3 pO» 8o e esgs ¢?
Uesteubenerauimiell  SyOLLGeiten fpd SB@&L CUIGSSHIOTEIS! 6he LML Qamed auflns siEh?
Which of the phrases of the following songs would match the given rhythmic pattern?

(1) Yesterday, all my troubles seemed so far away,
(2) At the end of the rainbow, there’s happiness,

(3) In Dublin’s fair city, where gitls are so pretty,

(4) Flow gently, Sweet Afton, among thy green braes,

€ @18 @8> 208 gneds Jucd 088 8 aB w.dn miBc n@s ¢?
SHILL_Beiten Beng o bsmibafled Lfilel ey Seveiten Sudbmd 61517
Which of the following compositions is written in Triple time?

(1) Vilia- Lehar (2) Lullaby - Brahms

(3) The Sandman - Brahms (4) From “Swan Lake” - Tchaikovsky
& B £S00ed d58mbie®@Ss B0w Driest B3 o ¢? bh-o
UelieupenetauBpisi S Bellen eSS saQpTinais ebeauyd 6g)? T —
Which of these would be the enharmonic equivalent of the given note? y
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0083 Bedewin=io €00 g¥ndurs Dxles’ RS ¢?
Uelraumeuetouipiet 19er08EM_aii’ ebau] Semblausd SyGeug 61517
Which of these notes form a discordant interval?
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A amnioaid emweary evGxedsin 65l eDAITEHSHIGEG Gwed CUFCUSL 5 GSeETGeisd g@emrr@m@
LslTeu(BID 6TTh erdeuDd SEHD?

Which of the following notes would form an interval of a perfect 5™ above the leading note of

A Harmonic minor?
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8. & @B €90 anecsd C @it otie@mBs demced «@d88umld () 890n drtest B3 nors ¢?
SIUUL Belten eroeurmhiseflsd C agmt apmjGureals edBselsr Fnfiguisin (60) eOeMTID LGS 6187
Which of the following notes would be the Sub-mediant (Lah) of C sharp Harmonic minor?

) o) % i
e))  — 2 = o~ 3) {D [ 9 ) €)) (o e
./ o)
9. ©® gnecxd D e®dl ewsioednSs desics dles’ e g?
Ueiteugpeuaiaumppiled D Gioggr GusGLTeld erdBmed Su@Gaug 615?
Which of these would be the D Major Pentatonic scale?
: g £ —— -
O S <2):?§,~?>.;’:’5?55ﬁ
T 1 ¥ Py [ 4 4 ?
9! O
(3) I{ p 'Jr}“.r) E } i T (4) ": ;)0 i (S ) Py
L —_ —_— i .4 ©
S 1 T
10. ®be®5E 8850 Lbedcwom 896 ecms emc ewdediss 3 » womdors gridest & B d01 anedss
T O e?
SILLLC Beitenouppled anjGioreais emwery avCzelar SN evaEIGEDSG SLulsd 3 QsfCyTei
SNJD 2_6ieng) 61517
Which of the following notes of a Harmonic minor scale has a distance of 3 semitones?
(1) 2 and 3" notes (2) 4™ and 5% notes
(3) 6" and 7" notes (4) 7™ and 8" notes
11. 089 gredsd A o8l boced gug 00 emids dslesd o c?
tereumeuataubpisit A Gogy ed@seder Gsd QLI gn GaIl. SyGeus 6ig)?
Which of the following would be the upper tetrachord of A Major?
- )
(H 4 " 2) 7 —— ey —©
L% ) ~F Ti
¢ F—o .y ———
12. G 0835 8 0tn®x»x30 gud 9m0 gur L0 cdless @033 o ¢?
Ueireumpeusmouppien G Goggf Seir OLmerein 1 ywmh BBe o _ful edeusid e1g?
Which of these is the dominant triad of G Major?
Pig— | : 48
.24 : 3 ' >
D o 2) Loy (3) - @ Aw—
AN ANKTAIY ) - NN
'y o TO : LY
13. @@ grecs’ 88xY gud dms dxfess o ¢?
LTeite(heueTeUBEIST eDIOGTT L JUIl 61517
Which of these is a Minor Triad?
ot {‘},8 é 3 %}U M,—. ﬁ .%3‘52
(1) =p—TO 2 % 3 —F—Erg @) b
A 74 - N Y4
Y, [y,
£
14. g B gutde Bednd moriesd e®i8s8 o ¢?
LislraubeueiauBupien Syl Beiten L yuwiB Sevet olifiiLg eigl? s w— ;‘ig
Which of the following describes the given triad? Y Teo
(1) Tonic triad, Root position, C# Minor (2) Sub -dominant triad, 2™ inversion, F# Minor
(3) Sub Mediant triad, 1** inversion, A Major (4) Dominant triad, 2" inversion, B Minor
x J

~
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16.

17.

18.

19.

20.

21.

‘False close” ocw (3023023 0@ grecst So® emduins ¢?
Hetreupld Gept_aiierdsmerilsd “False close” elar simipdsriGeas 611 ?
Which of these cadences is called ‘False close’?
(1) Perfect (2) Plagal (3) Imperfect (4) Interrupted

bermd emsluwn g8 ewid eers €03 aneds’ ecdds (double) eansdw @ B0 @ ¢?
Hesteucpeuaieummieir CLFGLIGL GaLaleriai Sewi® G absefsd @iy (double) Qauiw puITs
GrOOMIID 615517 :
Which of the following cannot be doubled in the two chords of a perfect cadence?

(1) root of the dominant chord (2) 3% of the dominant chord

(3) 5™ of the dominant chord (4) 5% of the tonic chord

& 1B Bb»0xI0 O Dems e gr IdH credn BOCE BERS drlest Bt 2@ ¢?
UeiaiaieareuBmiet SILILIE Beilen @GOG Eena s Geougwnguwi penpuienens Ffluimss s Goug
e1gt?

Which of the following is the correct way to play the given ornament?

f e
P A=
T T ey sEE—r

o awns?

(D )] (3) @

w@sens’ gsc 080 8sfemiedsst ames Om ©Bn B OBos Dxlest B3 2823 ¢?

UestoubeuameuBpiel QUTHIONTS 19ujLIsd 6D AeibCarCLagst o eilenmidll Bens SiHE CUMS 61p1?

Which of these is a type of musical composition generally in duple time combined with syncopation?
(1) Waltz (2) Ragtime (3) March 4) Prelude

Q0 o 6208 8 dbvws dxlest 8 pE ¢?
LiseumeuaieuBmIel [BLMSHMms 2 Gl EETH YbH Umd 615
Which of these types of works does not include dancing?
(1) Opera (2) Ballet (3) Oratorio (4) Minuet

€ 18 Door gecs’ OICE Duws dxless B3 o ¢?
e baiarauBpien HeupTel aIThEWILD 675)?
Which of these is a false statement?
(1) In Nurthi, the main instruments are the Harmonium and Maddalaya.
(2) The quick rhythm section of a Nadagam is called “Uruttuwa”. !
(3) Two Maddalaya drums are played together in a Nadagam.
(4) The non-rhythmical chant in Nadagam is called “Innisaya”.

@@ 8o grecs’ D® Bnws dxlest O ¢?
LelreumeneTeuBBIs THTL_&ID’ LIT_60 61517
Which of these is a song from a Nadagam?

(1) Suwanda Padma (2) Gambhira thedathi Konsthanthinupure
859¢ ©d® 0®8S ey emidnstSngel
FolbG Lo ' sy G553 QsraiesbhSam Gy

(3) Shriya Manamathvi ) (4) Vasana Dineki
Bwr 038 Doz EesiD
fuIr  warnged ourgenm HCenas
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23.

25.

26.

27.

28.

29.

22. & g8 €00 2eddn @e0d S vngss @u0E® wodn €00 ecs Bw afer B3 »OGD c?

LlesteudberereuBmieln SIUILILBsiten eoou] QBTGSeI R&CIWT SipTE EmWHCHL FRIBES LMD
GIARSLILIL Beitengl aig?

Which of the following is the correct notation when the given melody is written an 8'° lower in
Oriental notation?

(1) 8§u8/® s (2) wol/es e (3) ® B /28 @ ﬁﬁaélﬁi@/)@

80 Bows embses 83 pos ¢?
LlsSreudpeverouBmIsT GLosOeTena ILTL 60 SIEOTSSHI 61517
Which of these is not a ‘Light song’?
(1) Olu Pipila (2) Ase madura Jeevanaye Geetha
B 88m gres ®Q0 Somed Boo
@ Llfeor IG5 gy oGl S -
(3) Suwanda Padma (4) Shantha Me Ra Yame
- @de ©de @i 6® d @e®
FeUhE LSID Fmbg G gr winGwo

‘900" o gEwy Bewd BGdd g e wcs Dlesd pO c?
Leireueueoupmieir ‘@G’ 6itip SGHTedll Qamededer IHIEBBSHMBD CBTERIBeien CFTed 61512
Which of these would be the opposite meaning of the Italian term ‘Grave’?

(1) Presto (2) Dolce (3) Vivace (4) Adagio

®Led ‘Lullaby’ e ggey e0®ewn dm Oxles B8 O ¢2
LledreubeueiouBmielt 1ymberveriiesr “‘Lullaby’ &best QuUTBSHTeT CIdGUT Syeug 615?
Which of the following will be the suitable tempo for Brahms’s Lullaby?
(1) Moderato (2) Andante (3) Allegro (4) Tempo di Minuet

00 gedsl eMMEED w.Bn Mmetds d¥er’ Bzt o c?
HelioueueraBmiet GLUTGSS0BE Smassmal em?
Which of the following musical instruments is the odd one out?
(1) Viola (2) Violoncello (3) Harp (4) Double Bass

980 0 eyzID ewisl BERG wewsl O MO duwn 823 RO ¢?
UeraibeueouBmier Lytbs, 1105ehd Cammient eraiicne upls GEnIEL Seuprer sursAund 61g?
Which one of these is a false statement about the trumpet and the French horn?

(1) Both belong to the brass family (2) Both use similar Shaped mouth piece

(3) Both play with the same technique (4) Both are transposing instruments

& 315 ®oBm 930 gocws’ gnedsl By 000G D8 Vedd S et v® mewess B OGS &?
SN Gelten BensdaGeld Camomeflsd RS L aOMIHIBEDEHE Gosors @06 &6y o wijeurs
P GIIpLILIeIBI 615517
Which combination of instruments would sound an 8" higher than written?

(1) Flute / Cor Anglais (2) Double Bassoon / Double Bass

(3) Oboe / Trombone ¥ (4) Piccolo / Recorder

& a8 Growoves’ @Dy arfert Bok der RO emidus ¢?
SILLI-Beiten eflendsll LI_SHe0 HBBT @Emiar abss Gar SM_L L (Beitengl?
What would be the chord of the guitar given in this illustration? ¢

(1 G (2 D
3) F 4 C

J

[6 &5 80D Pedw. / ub. 6 g Lnss / See page 6
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30. gooed 0@ gmpdas g DS RIEE 853 TSI ¢?
LsiieuheusteuBmiel Liewaoiuier @elenuil GueWITGS HIbamigul LBsnel 6157
Which of these birds could imitate a cat’s call?
(1) Magpie Robin  (2) Parrot (3) Selalihiniya (4) Kauda
31. Obm»8 emi® wewy cerndenns Duiess,
GLirewrfl Gumb @BG o HTTCTIOTCUDL,
An example of Ternary Form would be
(1) The Sandman. (2) Lullaby.
(3) Shaker’s Tune. (4) Theme from “Swan Lake”.
32. o608 end® derd OBewtd Bud Bed ¢?
GLjemnfl Gumb @D e1dhHemen 6N NCFTL H6iT 2_siToren?
How many episodes does Ternary Form have?
@GO 1 2) 2 3) 3 (4) None
33. ecwcesid d= O ‘Eine Kleine Nacht music’ e®3e:10 5823 Ewo ardler,
CagBai’ syer ‘Eine Kleine Nacht music’ Gioreom’ Geimed e s L gl
The serenade, Eine Kleine Nachtmusik composed by Mozart was written for a
(1) Symphony orchestra. (2) Concert Wind Band.
(3) String orchestra. (4) Piano Qintet.
34. 8 g5 w8 ma8 gneds’ eRemids’ 8853 6B Om® Vendd dlert 83 @ ¢?
LeTeuhsuateupmisit GLGHTCsuTaTsd @idaiin L gCroummem Uyt a1%h?
Which of the following is the only opera composed by Beethoven?
(1) The Magic Flute (2) Fidelio (3) Rinaldo (4) Lohengrin
35. COBGE ecwrs gud a8 iwes HPIESDRO 8 O O Ced 518 Bw D e mBe Dxfes’ e®D8s3
203 ¢?
Hearaipeuateupmisii & BIGsefler Capflul Sgmhisamean] LWSTLIGHS CuT gaeop CeuefiB END
GBI 6157
Using the National anthems of two countries, which of the following works depicts a battle?
(1) Pastoral Symphony (2) William Tell Overture
(3) 1812 Overture 4) Aida
36. & g8 I aneds’ BOnBwS emdded 83 00 ¢?
Ledreipeuateumbmistt AbLiel SEOOTHHI 61517
Which of these is not a symphony?
(1) Trout (2) Surprise (3) Eroica @ Clock
37. ‘Any Dream will Do’ Boe Bum cded & ¢ wBowes’ gnecs’ mEcs 88s3 ¢?
ereumGeurfied ‘Any Dream will Do’ siefiB Lm_eleit @endF Sub@bI uiry?
Which of the following is the composer of the song ‘Any Dream will Do’?
(1) Richard Rodgers (2) John Denver
(3) Andrew Lloyd Webber (4) Harry Carroll
38. won w.8n dads armes O dec miBo RO ¢? B
Laiaimd Bmad Ongd) 2 e _dasinn L. UG Sidksld 6ml?
From which of these ballets is the following melodic extract taken from?
EM K K P .
SEmiE et aEs
! ! — -  ©
(1) Nutcracker (2) Firebird (3) Petroushka (4) Swan Lake
AN J

. [7 o5 809 Bexm. / us. 7 gt unjss [/ See page T
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40.

dedE 00z wom cled B3 O B ¢?

LelaumeveteuBmiel Jr8ais0 Benmmed IS L SLbHD 6157

Which of these compositions was written by Ravel?
(1) LaMer (2) An American in Paris
(3) Bolero (4) Kinderszenen

08 grecs wodn Just BBows dmr S PO vyOD Digme B Ve WOUS ¢?

Ui heieieubmel oo Reng LJbGomen @anlomanss @G FowsHsd 1miGD Bmasssamiguisie

Bwrug agi?

Which of the following can be used to add music tracks that can be played back simultaneously?
(1) Sampler (2) MIDI (3) Sequencer (4) Synthesizer

ate \
%W

J

[8 &5 E00 Dea®. / udb. 8 gt urjds / See page 8
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General Certificate of Education (Ord. Level) Examination, 2022 (2023)

@B (geotw) L1
grhSHD (Cwenens6sw) 1,11
Mausic (Western ) L1I

@B (@ucw) / amssn (BwamesCsw) / Music (Western) 11

1 &» gdos 3100 A o B om0s08s gdn ecw 85 enithenm, g comd B8nc; 608 uYeE ®
2BBBBIB.

1 o eolem 2 (L UGH A, ueH B easduaBlalebs Beueiyai@ olambsmens OxfleyGiFuis,
6T60BVTIONS WbEHI ANaMoHEEnHE DSSHTEMECW alml. HHd.

Answer five questions including question No. 1 and selecting two questions from each of the parts
L A and B on this paper itself.

[ D gode / s GLewt /Index NO. ... J

For Examiners’ Use only

(41) Music (Western) 11
Part Question No. | Marks Awarded
1 Final Mark
"In Numbers 1
2
[ In Words J
A 3
4
5 Code Number
- )
Marking Examiner
B 6 1
Marks Checked by:
7 2
¥
Supervised by T
(. A
Total
L )
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1. oo & g8 w.8n Destdn glBnEmn 0 §eso a8 udmOc BEnc wussim.
B8 ST Beiten BwsILGHmw SeusTafsg Gl iUl Geiel ellaMmbsEhhd aflenl  6I(DBIS.
Study the music piece given below and answer the questions.
Bourrée
from Lute Suite
f) . .
L SEE===s
S T — q h J‘M% I f :
T e B e 7 i - ]
6
04
i —_— T
et — e e
Y T " - Lt ~I=
4 1] : I & = . D Py
T - 1 " P = > .
e r r I e P L
-
A
11
D4 ~— ~ a
| ﬂ J D A -Jj T i ! T 1
— & : — — T _J,pf:;
SR e e e e
16
D ﬂ P — — T 1 p—— : T T
L 1 | ] . ] !
W I 1 f | I - ) | i 1 | 1 [}
1 ] ' | ¢ <
20
D4 *
o, = ==
= M .
P V— __J;E;J__D|ﬁll"1|l'j!
PR ﬂ { g ] i =
(i) 0®® @B mBn Gwo B B O o ¢?
s B@FILG hs & G0 s Heiens:?
In which key is this music piece written?
---------------------------------- {t.l-----oo--l.------00.---t-.---ool.-.----nc-------u-n--"".-----ccoon----o.c----'-o'lnl----'
(1 mark)
(i) @®@® ®w.Bm MBSO aag 88 B8Fer’dds Budns »oD.
Bhs BoaILGHsEG o flui b AiGaFsmy alaflsds.
Describe the time signature of this piece.
(1 mark)
(. J

[10 85 869 Bewm. / us. 10 gl unjés /See page 10
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(ili)) °®® wB» miBensd eni® O» o= ¢?
OB BmsigdHuiesr Gumbd ung?
What is the form of this music piece?
........................................................................................................ s
1v) 0®® z.8m miBend i emDE VEBNE®D DB o BB crdDsim.
Obs BmsiGHUIST PSHBL LGHEemeT Bandsewi® LIT evdsid cpeid GRiibse.
Identify and state the main sections of this music piece giving its bar numbers.
...................................................................................................................... ( lmark)
(V) ©¢§ emdw gdes’ O 8 O O wosim.
WPFO LUGH gl _Seis & Beit Quul] Hms.
Name the key that ends the first section.
................................................................................................... g
Vi) ‘A’ eco e @0 ¢ D god 7 w» 8§ 8 exddstes »H® mdsim.
‘A st @EIIL LU Beiten LM Be0dsld 7,8 er@suBBaET Golaled® GLIULT SH(Hb.
Name the cadence marked as ‘A’ at bar 7 and 8.
................................................................................................... s
(vii) @8 gow 21 8 80 () oo 083 ¢eddr B e300 gdodes »® muis.
uty @ev 21 Ged s riigye (]) erer Gt Gelten evaly Senl CaueMuler GLILIT &(Hs.
Name the interval marked with a bracket (]) at bar 21.
............................................................................................ s
(vili) ©0®® w8 miBewrd g acien BERe O DSHID.
Obs DemsliLgdHluier @FewiioaB LT SH(he.
Name the ornament in this music piece.
................................................. ( 1mark)
(ix) oom 8 g8 £ed o8 008 w.Bn miBed Ml gom 3 8 cney absd Digvds T EAD €06 eQRE
HedDP 5@ 8D Se3® 5@ Bosim.
SCw sy Geiren s0Gyell B0 by Bewalt ugHula LTy Bev 3 Beit euevH mdEUTlanTed BenFhHIILIEGD
aroeugmisenen Lilell ero@yst Bed i85 eveugavHTUIUTSD 156WIBID SIIDSHIS.
Rewrite in the treble stave given below the notes played with the right hand in bar 3 of the music
piece at the same pitch.
)
{zs
NS4 s
) (1 mark)
(X) 0®® wodm weBw Bum C¢ wBm@w ‘J.S.Bach’ed. e@® w@m@wied 5@ scdn mied SO0 ddmed
B @yed sl v.dnwewns »® wosio.
Obs AmarugHuiar Bms eub@By J.S.Bach’ geury. Qhs Bas SusGHiar Gy S Geier
HemalLGHuled sflwrer G S5FH60 611pd), Diuflar FsT Band SHSHT Qpafar QUUIT Hips.
The composer of this piece is J.S. Bach. Write the name of the composer in the correct place of
the given score and name one of his contemporary composers.
e ee e eee e e eeea e e iaeeiaieneeh e enteen et eenenans ( lmark)
(xi) woBm@we gu O oo 5O DOBID.
Hms RHGHBSG 2 flul uFeTBBIs STeuhAE QUUIT FH(hs.
Name the historical period to which the composer belongs.
' (1 mark)
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(xii) BO10] 0090 Cey »C 000 MmBed B.Bmens H$08E O» cdsin.
Gbg SBHHE g avemyullensy FLITOT DIDLILGG SeLWTemOL (B ST Bs.
Tick the correct box to indicate the style of the music of this piece.

(@) Monophonic style [ ] (b) Polyphonic style [_] (c) Homophonic style [_]
(1 mark)

A om0 /ugsl A/ PART A
Bo® yad» ecHDO BT wemsim.
cTemeuGuugnid @Tewi® elembmEhEE oMt Wl d@s.
Answer any two questions.

(i) F o0t dode deorsd 800 ewgoRds emitdciens edemddcwd e i 0888 b 4 » 00cs Imzs
Custm. BO108 B Bew300w 998m 0 Digmrm D g g0 3053, (0B, orfBz3 won HB&ed) |
F Gz a0Baafle erosuymisement’ LLGLGSHE QamynGan GQrsGHsm @i GlLIm g sLoment 2 LD &6
4 unjseiled Goely PEImB WbGS. sfumear & AsCass] LWHLIGHS Bmass Gaaimgul (PMmBMLIS
Sh&. (OrbGum, 1CTeIm, enLemdldben).
Compose a 4-bar melody in 4 time for the Soprano Recorder using the notes of the F major scale.
Use the correct key signature and add performance directions. (Tempo, phrasing and dynamics)

4 marks)

(i) g8 8¢®w 90w w83 C OB 90®» w0m euwsdediRs demes medhkes wn gdedines GImIcnd
Butm. F BeoEd ©98m wosdm.
SILUL @Geienn g Garevgmsll LLELGHE C G6d aynbilsSlam Guen G rafls adGselsd oyGymasemd,
SleuGyraend (peampuiled eipsIs. F Hemell LLIGILGS S,
Write the Pentatonic scale starting on C, ascending, and descending, using the given rhythmic pattern.
Use the F clef.

MJ ﬁ{mjgﬁ

(4 marks)

(iii) c®® eOCT: VPe0d dn vEd odd Pore Omd Justdents womim. B BdextOda #§OES DOBID.
8bg Ggmw @ @dGre Hpre Gued @HCstel BBE LITaGuTed Qauls. sfurar & HoGaEsy
I ()| IR 8
Transpose this 4melody an octave lower to the Bass clef. Insert the correct key signature.

| Y P ————
.- 1 ; I\’r > F I K] ;—; 1 i
L9 ® i BP ' T ol s
N —

“ marks))
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3. () § a8 oc0e0 orgenm anl 8 50w c@medtnes mdm md Bustn. 08B DD BOGES HOdBED
@3O3 erdDzdes.

SIULI Belten oTBaEpsEGL QLTBSSITS 8 umjsefled Mg GomewiL GLorer@ymesr LIWELIBSS) e1(1DH15%.
Brig Cethamer sfluns edaumiEee &6 GBIGs.

Write a rhythmic pattern of 8 bars for the given words on a monotone. The syllables should be
written correctly under each note.

One rainy day on my way from school,
I found a big worm and thought it was cool.

(9 marks)

(i) @®® wo8n Dedds veg FO Sewsd Bc® O a0 088 Bder’oded c0nEB® SBuws am. se§
8 920 wo gooms ¢dan BGmasiB 088 Bdesidds e Dosim.
8b3 GmFiuGd 1pHed LIBHI 61 SYFIbLIDTEISIL 6 b ASCmFsfled TBBEIBET fev CBTawIGeiemar.
Ppge0 LTy SeT ibLSHID efeneis GgemeuliTer BLmsaligond eomd HSCaiFa) o 1 LGHSI5.
This extract begins on the first beat of the bar and contains some changes of time signature. Put
the time signature at the beginning of the first bar, and elsewhere as necessary.

—2—
L) i ] (] I 1
2’: ZF F ! o ! ] )
| i V¥ h et I ]
e 0 I

(3 marks)

4. 00aC Bects By e®cDs Mmbe®ndsd $5® 8¢ R Ledd8 0dl® grtwe®sd &30 8 JYusBed @D0D
. OB, B8, 000 ece 8dOED g 88 Baxim.
LEmier HQsmell G6d eapSrILL Geiten GIoeVIgEMULI QM DENEITEID QeuieugBaTs Gued eCei Bl 2 @ympesr
Bevsamisaied Guitnd_rin Beien Lywimed Senest QLT 11 afiberd, 0efiberd, &CBTF 61 6[66[&['55,&@[&5@
o fluleuTm e1upsiss. !
Write triads shown by the Roman numerals, accordingly as Dotted minims, Minims or Crochets in the
Bass stave to harmonize the melody written in the Treble clef.

Y ]  — f
&,‘ - I_ 1 |- f =
5 T I j::!
I

LA

s

VI Ic Ib iib \'Z Ib IV 1

(12 marks)

)
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B em0® / ugg B/ PART B
B2® gy ecHDO BEmT| wesEsim.
eremeBisnnd @resi® eNTbsEndhE, el WieldbE;s.
Answer any two questions.
S. () 25 8» 0ocBud Bt@ens B8O eew =@ g B w:8p dethed HSO8E 90 vigenm BT
s Eosio. orgesm ed®ewm, ecBe 11 BBl e®glen e®CEDEO ewigsis.
SILILLBelten Gibevigd@ll GUThHSSTar syetafiv 118ren Gaiha 8 Ly Gievig QEIND 2 (ThEUTE(GHb.
Cur®dgioren GG, 1ICTeNImI, enLamiden ele@iLUHDB (1P1p GLoevigshE;D CaiHEs.
Complete this melody by adding an answering phrase in the same style to make an 8-bar melody.
Add suitable marks of tempo, phrasing and dynamics to the whole melody.
g? o+ PE-?
- i ) »
{Zs i = ot e i P 7
oS i 3
[ Yy
(6 marks)
(i) Cxe@Ss 08l doEdced ¢80 @edm 8 0 gd 9u3olDaE v Yudded Bustm. BN atBed=socs
900D OB,
C emrjioafe emwery 0@zelsd B oumpitd QUL Geten  EeiyOeusdstd BB Lywberd e1upslss.
Fflwmer DAL STV LILIGILIBSSIS.
Write the intervals and triads named, all of which must occur in the scale of C Harmonic Minor.
Use the correct accidentals.
9]
L o). ). s —
5 = | HHRE) : f
*  Minor 6th Perfect 5th Minor Triad * Major Triad
in root position in 1st inversion
(6 marks)
|

J
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6. (i) oD goeeSs et O qEedn qwdsd lddes DBy (B B e300 38 @m3-e300 et
S DB eerschesy, Eeds, eOmY w» o eew Busim.
el Cam Gamguieh GaLéien B HIGH alSHS60 SieOLiflerd efilenmed ML LI BeiTen
BL &6 CuT-um CsT @eiCeuramiler apsob GamiyTGe, e0CT, GIL ey, Guerd CTETLIBMD (LTS,
Write a four-part chord for Soprano, Alto, Tenor and Bass at each asterisk, so that each pair of
chords form the cadence indicated.

*
*
*
*
*
*
*
*

0 # ) 0 | Pl | | H 1. |
[ FVEL) S| I P AL W 1 p AN . AR B & T 5y |
Y AR 3 | 2 hy 1 o P L ¥ ¥ 4T 2 Y i ? )
bl & [ £ M hod [ a1 TIW [ oy WM/
o NS4 <7 AN
r o) | (3] [

P
T
-

T

NG

b%—
N
Hele
L ) f\_
R
B
vy
v
an SN
D
o
i
| Sy |
| T )

Plagal Interrupted Imperfect Perfect

(8 marks)

(i) D8 wodBms cLwdes eCod BHmd endews’ Budnd wisinm.
GaibLy Sensulonel BIHIE 2 HIJRHIGEHL 6T S(HbSIONE elouflbed.
Briefly describe Chamber music with two examples.

(4 marks)

—/
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(1) oo ©cons’ Bdmwons’ grnecs’ 88 gowy B8O endews’ Sund mouim.
Hetaimd Beng pbGHIHeMsd @rheouenyll LUBY Sihbsons aleuflbes.
Write a brief description of one of the following composers. A

Bach, Mozart, Chopin, Bartok

8 s @ICR0T FED DOTID.

Include the following details.

SiFled LTaiaBD HHEULHE6T 2 6iT6NL_SHEGHS.

— Historical period, Name of composer, Year of birth, Nationality, important facts about his life,
his contemporaries and two important works

(i) (@) RewzEPed B vedd) emDesd PsibeetB. o Merds O DIsio.
@6se0LgTaled BIDL auTdhHURIST LGgHUTed LyrererdGLimerditi BbY eurshSusdHar GLwy Hms.
Name the transposing string instrument in the string section of the orchestra.

(1 marks)
(b)) 98 o0 Bdmdus Eosdm.
DISMDNEF F(HSHDBLOTH @ﬂsume'ﬁ@&a.
Write a brief description of it. .
(3 marks)
/



